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Homework for 2.9.1 p.230 #1-4

A packaging company makes boxes using cardboard 25.0 cm long and
20.0 cm wide. Determine the size of squares to be cut from the corners for
each of these boxes. Determine the dimensions of each box.

a) a box with volume 500 cm3

b) a box with the maximum possible volume

- Repeat exercise 1 for pieces of cardboard that are 25.0 cm square.

. A packaging company is making another style of box from cardboard

28.0 cm long and 21.0 cm wide. This box has a top that comes from the
same piece of cardboard. The diagram (below left) shows how it is made.

a) Let x centimetres represent the side length of each square cut from the
corners. Write the volume of the box as a cubic function of x.

b) Graph the function in part a. Use a graphing calculator if you have one.

¢) What size of square is cut from the corners to have a box with volume
375 cm®? What are the dimensions of the box?

d) What size of square is cut from the corners to have a box with the
maximum volume? What are the dimensions of this box?

e 28 cm—> ‘ 28 cm

The diagram (above right) shows another way to make a box with a top
from the same piece of cardboard. Repeat exercise 3 for this box.
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